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1

2,

(1)

Students' and Teachers' Holistic 1.
Advancement through Quality Education
(SARTHAQ) is an

(3)

(4)

(2

(3)

(4)

(1)

(2)

Johann Gutenberg developed the first-known
printing press in Germany. Which was the
first book he published in that press ?

Indicative and suggestive NEP
implementation plan for Legal
Education

Indicative and suggestive NEP
implementation plan for Higher
Education

PART -|/ -I
GENERAL AWARENESS/g GJhGll

Indicative and suggestive NEP
implementation plan for School
Education

Indicative and suggestive NEP
implementation plan for Technical
Education

The Magna Carta

The Republic

The Bible

The Odyssey
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2

t Hatiu yufa (Hf)

(1) fafy fTT fer trgt4 fra ta

(4) T6-ftfi fer tItr frT Afa

(2)

(3)

(4) sfsvít

Q2
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3.

4.

Which of the following statement(s) is/are3.
correct about 'India State of the Forest
Report (1SFR) ?

(A) The first State.of the Forest Report was

published in 1947.

(B) The reportis, based on the biennial
assessmentöfIndia's forests carried out

by Forest Suvey of India (FSI).

(C) Based on theSFR 2021 report the total

forest cover ofthe country is 21.71% of

the total geographical area of the

country.

(D) The ISFR 2021 report shows a decrease

of forest cover as compared to the
previous assessment.

Choose the correct answer using the codes

below :

(1)

(2)

(3)

(4)

Assertion (A) :

Only (B), (C)nd (D) are correct

Only (C) and.(D) are corect

Both India and the USA have bicameral

Only (B) and-(C) are correct

legislature.

Only (A), (B) and (C) are correct

Reason (R) :

(1

The upper house of the legislature in both the

countries has arn equal number of seats

reserved for different states.

(2)

Choose the correctanswer from the codes

below :

(3

(4)

(A) is wrong-but (R) is correct

Both (A) and (R) are correct

Neither (A)} nor (R) is correct

(A) is correct but (R) is wrong

PGT-BI0-2023
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3

4

(A)

(C) AI.yH.VE, 3113 q 2021 ì fryt

(D) 31$.qH.5,3R. 2021 yfdàg i fygt

(1)

(2)
(3)

(4)

(1)

dT (B), (C) r (D) HI

hl{UT (R) :

(2)

a () 3r (D) HÍI

tfrAT (A) :

(3)

(B) 3TT (C HâI
(A), (B) 3Ìr (C) H ŽI

(A) TTd f

(A) 3r (R)

(R) HI
Haži

(4) (A) HET fg (R) eTT TI

Q2
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5.

6.

7.

Assertion (A) :

As part of the major reforms to Union
Budget, the date of budget was advanced to
1 February for the-fifst time from the Budget
for Financial yeär 2020.

Reason (R) :

The advancement of Budget date has been
done to enable early completionof theBudget
cycle.

Choose the corretanswer from the codes
below:

(1)

(2)

(3)

(4)

(3)

(A) is wrong but (R) is correct

Both (A) and (R) are correct and (R)
explains (A)

(4

Neither (A)ho (R) is correct

Which team wonthe 2023 Women T20 World
Cup ?

(A) is correctbut (R) is wrong

(1) India

(2) Australia

(3) England

South Africa

Who was awarded the Sahitya Akademi 7.

Bhasha Sammari 2022 ?

(1) Krishna Bhattacharya

(2) Chungkhai Yashawanta Singh

Shashi Nath)

(4) Uday Nath Jh

PGT-BI0-2023 BSA
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6

5.

(1)

(2)

(3)

(4)

(1)

(2)

(4

AIUT(R):

(1)

(3)

tfrca (A) :

(4)

(3) s

(A) Icd

(A) r (R)

for

(A)

(R) HO I

H sìr (R) À (A)t

(R HN
(A) HT forg(R) IRTA

Q2
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8.

9.

10.

'Milpa, 'Roca', 'Ladang' are different names 8

of which of the following ?

(1) Shifting cultivation

(2) Open-cast mining

(3) Earthquake waves

(4)

What do we call the process through which 9.

bacterial and fungal enzymes degrade
detritus into simpler inorganic substances ?

( Leaching

(2)

(4)

(3) Humification

Rain water harvesting

(1)

(2)

According to the National Education Policy

2020, by which year the Gross Enrolment

Ratio in higher Education including

vOcational education is to be increased to

50% ?

(3)

Catabolism

(4)

Fragmentatio

2030

2040

2035

2050

PGT-BIO-2023
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5

(1) FrTafa afy

(2) faqd G1

(3)

(1) IIT

(2)

(3) iq

(4)

(1)

(2)

34444

(3

2030

2040

2035

(4) 2050

Q2
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https://applink.adda247.com/d/XhqWf9lSap


11.

AB

12.

1

'M-Q means "M is the father of 'Q
'MxQ means 'M is the daughter of Q;

. means M is the son of'Q.

2

3

I.

II.

II.

(1)

'M+Q means 'M is the wife of'C:

(3)

(1 Brother

Statements :

IfA+B>xJ+U-D, how is 'B related to 'D'?
M tQ= m, gt4

(2) Sister

(3) Aunt

(4) Mother

Conclusions :

Three statements are given, followd by three 12
conclusions numbered I, II and IlI. Assuming
the statements to be true, even if they seem
to be at variance with commonly known
facts, decide which of the conclusions
logically follow(s) from the statements.

All pinksare scarlets.

REASONING ABILITY /Go 14G

Some scarlets are blues.

No blue is brown.

Some browns are blues.

No pink is brown.

PART - I|/ 4T- II

Some scarlets are pinks.

(2) Only conclusion I follows.

Only conclusions II and III follow.

PGT-BIO-2023

Only conclusion III follows.

(4) Only conclusions I and II follow.

6

11,

JOIN TELEGRAM - @TEACHINGEXAM

1.

2

3

I.

II

III

uf A+BxJ +U- D 'B T 'D' I

(1)

(2)

(3)

(4)

BrJ= B,J)

P/k is Red
Sone Red is glue

(3) fua II freheia

None 3hue s

Q2
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13.

14.

If North becomes South-West, then what will 13.

West become ?

(1)

(2)

(3) South-East

(4) East

1.

Three statements are given, followed by four

conclusions numbered I, II, III and IV.

Assuming the statements to be true, even if

they seem to be at variance with commonly

known facts, decide which of the conclusions
logically follow(s) from the statements ?

Statements

2.

3.

1.

IT

North-East

TII

North-West

IV.

Conclusions :

(1)

(2)

(3)

Allboats are fishes.

3

yo

Some fishes are rivers.

Some rivers are sailors.

Some sailors are fishes.

Some boats are sailors.

Some rivers are boats.

Some fishes are boats.

Only conclusions II and III follow.

Only conclusion V follows.

Only conclusions I, II and IV follow.

(4) Only conclusions I and II follow.

PGT-BI0-2023
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7

(1)

(2) 3R-qfrg

(4) ye

1.

2.

3.

I

(1)

(2)

(3)

(4) fA I 3ÌN IIfheà

Q2
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16.

15.

(4)

(3)

(1)

(2)

(4)

(1) P

(3) S

J

Select correct answer with the help of code.

(2) R

Two statements labelled as Assertion (A) and { oReason (R) are given. Consider both thestatements carefully.

Reason (R) :

Assertion (A) : India has the potential to
make its Handicrafts
industry a very flourishing

T-BIO-2023

sector.

India is a home to a very

large number of craft forms
including textiles.

Eight friends J, K, L, M, P, Q, R and S are
sitting around a square table in such a way
that all are facing towards the centre of the
table. L' sits in the middle of the side. P is
second to the left of 'M. 'Qis exact right of
"K and is sitting in the middle of the side. "P
doesn't sit with 'L'. 'Msits exact right ofT.
Two friends are sitting in between 'M and
'S. R is second to the left of T. 'S is exact
left of 'L'. 'K is third to the left of 'L'.
Who sits fourth to the right of 'K?

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(A) is false but (R) is true.

(A) is true but (R) is false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

JOIN TELEGRAM - @TEACHINGEXAM

16.

T (R) :

(1) (A) 3it (R) H HEt hg (R), (A)

(2)

(3)

(4)

(1) P

faT (A) :

(2) R

(3) S

(4) J

(A) IeTä

(A) HEÌ

(A) r (R)

W

AIS fHA LK, L, M, P, Q, R 3R S y aiaR

R (R) H
(R) ITG I
iH R (R), (A) t

Q2
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2

17. A statement is given followed by four

conclusions numbered 1, II, III and IV.

Assuming the statement to be true, decide

which of the conclusions is/are definitely

true.

Statement : C = R> D<E= K>P

Conclusions :

II. K<D
III. P<E

IV. E> R

1) Only conclusions I and II are true.

(2)

(3)

(4)

C> D

18. Apatient has been given a medicine schedule.

There are eight medicine capsules. S,T, U, V,

W, X, Y and Z. Which have to be taken each

day based on the following conditions :

()

(ü) "T must be taken immediately before

(vi)

Only conclusions II and IV are true.

(iü) Fourth capsule must be 'U,

(1)

Only conclusion V is true.

(iv) Y must be taken immediately before

(2)

Only conclusions I and II are true.

(3)

'Z' must be taken immediately after'W,
Y is the first capsule to be taken.

Which of the following statements is false ?

(4)

Capsule 'S must be taken sometimes

before "T and 'W',

'X,

U must be taken between 'S and T'.

The sixth capsule must be V'.
T taken immediately after 'S.

'X is taken before 'S.

PGT-BIO-2023
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17:

T :C= R>D<B=K> P

(1)

(2)

(4)

()

C> D

(v)

E> R

(3) qT V YAAI

CR

i fpI 3N III HŽI

2

- S, T, U, V W, X, Y 3t Z I

Q2
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19.

20.

Given below is a question, followed by two 19. à y y fe qHA aK a

statements I and II, each containing some

information. Decide which of the statements

is/are sufficient to answer the question.
How is Kushal related to Meenakshi ?

Statements :

I.

(1)

(2

(3)

(4)

Kushal is only son of Meenakshi's
brother-in-law.

Garvita is Kushal's only sister.

The statement II alone is sufficient to

answer the question while the
statement I alone is not sufficient.

Both statements I and II together are
necessary to answer the question.

Both the statements Iand II together are
not sufficient to answer the question.

The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient.

Select the letter cluster that will replace the

question mark (?) in the following series

BVU, ZXQ,XZM, VBI, TDE,

(1) RFA

(2) FAR

(3) FRA

(4) RAF

PGT-BIO-2023 D
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10

I

IL.

(1)

(2)

(3)

(4)

BVU, ZXQ XZM, VBI TDE,

(1) RFA

(2) FAR

(3 FRA

BE002Z

(4) RAF

?

Q2
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21. Refer to the following letter sequence and
answer the question :

22.

(Left) S BTMRESICZYO WAPDFH
GUL (Right)

Which letter is fifth to the right of the twelfth

letter from your right end of the given
sequence ?

(1) X

(2) Po.kn
(3) W

Lakshmi starts from point 'A' and travels

2 km Southwards to a point'Z' and then turns

right and travels twice that distance to reach

Y. She then turns left and travels five times

the distance she covered between point "A'

and 'Z' and reaches point 'X From there

she turns left and travels 4 kmn to reach

R

(2)

between the points A and 'B' and what is

B's direction with respect to "A'?

(1) 12 km, South

(3)

(4)

8km, North

2K

8 km, South

12 km, North

destination 'B. What is the shortest distance 4f.4Ì. Tettt 'B 4 6Yet 'A T

PGT-BIO-2023 B
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(arU) S BTMRESICZYOWAPDFH
GUL (I)

(1) X

11

(2) P

(3)

(4)

Sexam

22. f 'A' fa à T YE H
sr 2 fs. GTGT z fa

'B fH f<NI À?

(1) 12 f,Ì., <fAT

(2) 8 fH.41., 3R

(3) 8 f ,)., zferu

3N cfaru t
t t f

(4) 12 f.-f., 3et

Q2
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23. Seven children K, L, P, R, T, X and Y are

sitting on a straight bench facing towards
North. X is sitting immediately left of ^Y.

'T is the immediate neighbour of ® and'P.
Neither 'X' nor 'Y are the immediate
neighbours of L'. "P is sitting second to the
left of 'L'.

Who is sitting at the second position from the
right end ?

(1) T

(2) K

(3) P

(4) R

24. Given below is a question, followed by two
statements I and II, each containing some
information. Decide which of the statements
is/are sufficient to answer the question.

Who is to the immediate right of J among
five friends J, K, L, M and N, facing the
North ?

I.

II.

(1)

(2)

'L' is third to the left of 'K and T is

second to the right of L',

(4)

"K is to the immediate left of "N who is

second to the right of "J.

Both statements I and II together are
necessary to answer the question.

(3) Either statementIalone or statement II

alone is sufficient to answer the
question.

The statement II alone is sufficient to

answer the question while the
statement I alone is not sufficient.

The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient.

PGT-BIO-2023
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23. HIG AIT# K, L, P, R, T, X

3ÄY
àà X, Y

(1) T

(2) K

(3) P

(4)

I

(1)

(2)

(3)

R

exam

a fai , K, L, M 3r N, 3R Á sir

02

https://www.adda247.com/
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25. Two statements labelled as Assertion (A) and |25. à aua fe T t frzUr (A) t

26.

Reason (R) are given. Consider both the

statements carefully.

Assertion (A): Fake news spread in world

Reason (R)
:

(2)

Select correct answer with the help of code.

(3)

(1) Both (A) and (R) are true but (R) is not

(4)

(1)

has become a serious

(2)

problem.

(3)

The internet is source of all

fake news.

(4)

the correct explanation of (A).

(A) is false but (R) is true.

Teachers, Sisters, Females ?

(A) is true but (R) is false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

PGT-BI0-2023 D#e
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rã (R) :

Which of the following Venn diagram 26. ffafaa À H H à7 3TGa ftfefed
represents the best relationship between

13

(1) (A) r (R) t H foa (R), (A)

(2)

(3)

22100282

(9 (A) 3ir (R) ¿ H 3r (R), (A) t

(1)

AAT46,
, nfzGI

(2

(A) Ta f (R) TI tI

(3)

(A) H t fbr (R) IeTT tI

(4)

Q2
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27. Three statements are given followed by two 27. fEy T foH aIG f

conclusions I and II.

statements to be true decide which of the
conclusions is/are definitely true.

Statements :

1.

2

3.

I.

II.

Conclusions :

(1)

M>Q

(2)

P> M

N<M

Q= N

Q<P

Only conclusion II is true.

Both conclusions I and IIare true.

(3) Neither conclusionI nor II is true.

(4) Only conclusion I is true.

28. Study the given diagram carefully and 28.
answer the question. The numbers in
different sections indicate the number of
persons.

Salaried 24

Assuming the

(1) 8

(2) 12

(3) 13

(4) 5

8

PGT-BI0-2023
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12

How mnany Under 35 years' people are
'Salaried but not 'Married' ?

22

Under 35 Years

„Married

JOIN TELEGRAM -@TEACHINGEXAM
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1.

2.

3.

I.

II

(1)

(2)

(4)

M>Q

P> M

N<M

Q=N

Q<P

(2) 12

(3) 13

(4) 5

24

17

12

22

35 a E4

Q2
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29.

30.

Sudha is the wife of Anand. Kavita is the 29. q, Are vì t sfa, rta t al EI

mother of Gaurav. Anu is the daughter of

Ravi, who the brother of Aryan. Anu's
mother Kavita is the daughter-in-law of

Anand. How is Sudha related to Aryan?

(1) Mother

(2) Paternal 'grandmother

(3) Materna grandmother

(4)

There is a familyof six members D, K, L, M,

N and P. They are Lecturer, Artist,
Businessman, Exeçutive, NGO worker and

Singer but not necessarily in the same order.

There are two married couples. N, a

Lecturer, is matried to the Artist who is the

mother of'L' and
.
P is pursuing singing.

'D' has one son and one grandson who is an

Executive. 'K, the Businessman, is married

to 'D'. Of the two married ladies, one is a

NGO WOrker.

Sister

Which of the following statements is true ?

(1) M is th Executive.

(2)

(4)

'M is the Aftist.

(3) L' is sonof-p and "K.

'K is the wife of 'D.

PGT-BIO-2023
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(1)

(2) t

(3)

(4)

30. HGE D, K, L, M, N 3R P AII yE YAR

(1) M y YYIHE I

(2)

(3) 'L, D' AI K # ya

Sexam

(4) K, D VÍ

Q2
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33.

32.

31. Which of the following does not t come under 31. ftfefHÀà
3TS

cyber-crime under IT Act 2000 ?

(2)

(4)

(1) Distibuting child pornography over

interhet

KNOWLEDGE OF ICT/ ICTRIIT

(2) Misusing personal information over

internet

(3) Using fake email messages to get
personal information

(4) Stealing monitor from a store

McAfee Plus is an example of :

(1) Appljcation software

(2) Operi source software

(3) rogtamming Language

Antvirus

PART -II|/|- I|

(1) CItO

Out of the followingoptions, the most popular 33.
combination of shortcut keys to Copy Some
selected text in most of the MS windows
applications is:

Ctrl+ P

(3) Ctrl+ X

GT-BIO-2023
16

32.

JOIN TELEGRAM -@TEACHINGEXAM

(1) iz
(pornography) faafta h1

(3) faTS I61ÊÌ SIH

$- (fake email) AG

tá H (MCAfee Plus) fh6T y# 3AIRU

(1) ittTT HaT (Application
software)

(2) t4 Ì HFZa4T (Open source

software)

(2

(3) iurfn rà (Programming Language)

iarH (Anti-virus)

fuaiIH H fAstu (MSwindows) fraA

(1) Ctrl + O

fe
5

(3)

Ctrl + P

Ctrl + X

(4) Ctrl +C

Q2
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34. Which of the following software you 34. afh 3ÍE ftyad uty' fay y6

preferred most to design an animated
multimedia presentation on the topic Benefits
of Renewable Energics' ?

(1) Microsoft Word

(2)

(3) Microsoft PowerPoint

(4)

(1)

35. Which of the following cloud storage service
owned by Microsoft ?

Microsoft Excel'

(2) Floppy Drive

Microsoft Edge!

(3) Google Drive

(4) iCloud

(4)

One Drive

36. The power backup device, UPS, stands for :N 36.

(1) Under-controlled Power Supply

(2) Uninterruptible Power Supply

(3) Uninterruptible Power System

(1)

(2)

(3)

Under-control Power System

Hard Disk

Pen drive

Printouts

(4) Email attachment

PGT-BIO-2023 B#
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(1)

(2)

(3

(4) 5THE (Microsoft Edge)

(3)

(4)

37. Which of the following is not a source of the 37. TIGH H 4 HI BHRfH gLLg

virus entering your sýstem ?

(One Drive

(1)

H5THÍe TÉ (Microsoft Word)

(2) Floppy Drive

15T4R (RÌA (Microsoft Excel)<

1R raaTge (Microsoft
PowerPoint)

(1)

fefea ?

(2)

Under-controlled Power Supply

(2)Ininterruptible Power Supply

(3) Uninterruptible Power System

(3

Google Drive

(4) Under-control Power System

iCloud

É fsr# (Hard Disk),

A (Pen drive)

fiATJEH (Printouts)

(4) $-G 32THZ (Email attachment)

Q2
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38.

40.

Which of the following is an example of an 38. fTfafaa À Ì I

Operating System ?

(1) Edge

(2) Word

(3) Windows

(4) Bing

39. Which type of network we create when we
connect two smartphones to transfer some
photos through Bluetooth ?

(1) WAN

(2) PAN

(3) LAN

(4) MAN

22100282

(1)

Which of the following groups of devices are
only input devices ?

(4)

22100282

Mouse, Microphone, Speaker

(2) Keyboard, Printer, Light Pen

2210h282

(3) Joystick, Microphone, Scanner

PGT-BIO-2023 c

Mouse, Monitor, Joystick
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(Operating System) I

(1)

(2) É (Word)

u (Edge)

3 fsr (Windows)

(4) f (Bing)

(1)

(2) T (PAN)

(3R (LAN)

(4) H (MAN)

(1)

(4)

e fsaSE (340)?
HT3H, HIEaÌÌ4, ts (Mouse.

Microphone, Speaker)

(2) t-ats, fyi, EZ t7 (Keyboard

Printer, Light Pen)

(3) ufr*, Hga, (Joystick

Microphone, Scanner)

H3H, Í, iufe (Mouse, Monitot

Joystick)
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41.

42.

43.

Mohan can now think in terms of 41. A 34a ISA ar g HA r TEA

propositions and deal with propositions
instead of objects. He deals with sum total of

possibilities rather than empirical situation.
He takes final steps towards versatility in

thought.

(1)

Mohan is at which stage of Piage's model ?

(3)

(2) Concrete operations stage

(4)

(2)

(3)

(4)

TEACHING APTITUDE /fTU HAgT

Sensory-motor stage

(1) Confined to limited number of

Formal operations stage

PART - IV /T- IV

Pre-operational stage

(3)

(4)

Which one of the following is not associated 42.) fHifhd Ì
H ( SA1 yrgu àHafya

with a unit test ?

competencies

Totally controlled by the teacher

Used for Remedial purpose

Standardized Achievement Tests

(1) It develops scientific and critical

attitude among students.

(2) It provides training to prepare students

for life.

It develops self confidence and self

reliance.

PGT-BIO-2023

This method is suitable for the students

of lower classes.

What is not an advantage of Discovery 43. afy
H H GIYTaat?

method?

?
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(1) 1Y-d 4G 34
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(3)

(4)

(3)

3d ia4ICHA HARI

yd-if4H 3AI

(4) 476a igrfa vâgU

(1

(2)

(3) H* RI 3THfayara sit 3ATGHfTfaT

Q2
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44. Which characteristic does not belong to
Adolescence stage ?

46.

(1) Forming groups among members of

(2) A period of intense emotions

(3)

(4)

(1)

same sex

45. Which of the following is not an example of 45. f=ifad 41 3fyr'Assessment of Learning ?

(3)

(4)

Highly critical of social evils and
injustice

Pronounced group loyalty

(2) Scholarship Examination

(1

(3

Assessment of Homework

Anecdotal Records

Annual Examination

The ASSURE model of integration of ICT in
the learning process has the components :

for

Activity, state the objectives, support
and extend.

(2) Analyse the content, state the aim,
select method and materials and
evaluate.

Analyse the learners, state the aim,
select the method and materials and
extend.

(4) Analyse learners, state the objectives,
select the media and materials and
evaluate.

PGT-BIO-2023
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44. feszii fartua
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(2) ta Ha 4H4,

(1) J8614 6I 3HT
(2) qfr vûg

(3 te gfireg

(4) afts yâgI

HH-q4 ASSURE yfaHrr 3qya :

Q2
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47.

48.

49.

50.

Which one of the following is not a 47. MaTs Af1JYUH) Át fr-fetftad a
characteristic of teacher centred approach ?

(1) Unfamiliar or abstract concepts are

directly explained by the teacher.
(2) Enough scope for discussion and debate

is available.
(3) Courses prescribed can be completed in

(4

of :

Effective teaching, by and large, is a function

(1) teacher's scholarship.
(2) teacher's positive attitude towards

teaching.

time.

(3) teacher's ability to make students learn.

(4) teacher's honesty.

Large sized classes are handled very

well.

What should not be a role of a teacher in the

construction of knowledge by students ?

(1) Supporting cooperative and
collaborative learning in the classroom

(2) Focussing on realistic approaches to

solve realworld problems

(4

(3) Discouraging self analysis and self

(1

(2)

(3)

If students are not taking interest in their

studies, the teacher should
:

(4)

assessment

Being sensitive to the previous
experience of each and every student

in the class

tell them that taking interest in their

studies would lead to good result.

file a complaint with the principal and

parents and seek their indulgence.

find out causes for lack of interest and

take corrective measures.

ask them as to why are they not taking

interest in their studies.

PGT-BI0-2023 B 21
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50.

(1) 44ftfd sit 3T4d yr4 fis I

48. HAd: YHt fruT fasea yGRÍ
?

(1)

(4) fTHE á fa

(1)

Teacher Ceuted

(2)

(4)

(1)

:
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51.

52.

53.

Which of the following is correct about use 51. st.A., y 317dfNG TaÍof bacterial strain in Avery, Macleod and
McCarty experiment to establish DNA as
genetic material ?

(1) Live rough strain and live smooth strain
of bacteria.

(2)

(3)

(4)

(2

(2)

Live smooth strain and heat killed
rough strain of bacteria.

Which of the following cannot function as
vector in r-DNA technology ?

(3)

Heat killed strains of both rough and
smooth strains of bacteria

(1) Yeast artificial chromosome

(4)

Live rough strain and heat killed
smooth strain of bacteria.

Role of host-vector system is crucial for 52. yTtG3.A., Ay T4R FATmaking a recombinant DNA molecule.

PART - V/YT-V
BIOLOGY / afasG

A-Bacteriophage
Escherichia coli bacteria
Ti plasmid of plant

Which of the following is the correct
statement about the process of
transcription ?

Sequence of nucleotides in transcribed
RNA is similar to thatof coding strand
of DNA
Helicase and topoisomerase enzymes
help in unwinding of DNA double helix
during transcription

(3) RNA polymerase enzymes becomes
holoenzyme when rho-factor attaches
with core enzyme

(4) Promoter is present just at the site from
where RNA transcription begins and
the portion of DNA present in promoter
is also transcribed

PGT-BI0-2023
O20
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K- New-V/ndat

fy

(2) A-afaryiraft (teafryta)

Cut

(4) GY 61-341 (Ti) IHS
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54. Which of the following fact was not
established by the X-ray diffraction
crystallography of purified DNA ?

55.

56.

(1) DNA is made up of two strands

(2) Percentage Adenine and Thymine bases

are almost equal and the same is

observed for Guanine and Cytosine
bases in DNA

(3)

(4)

(1)

(2)

(3)

Which of the following is not an example of 55. ffad rH H HHgfi 3 I Vh 3<IEUI

analogous organ ?

There are ten layers of nitrogenous base

pairs present per helix of DNA

A full turn of DNA helix is there every

3.4 nm

(2)

(3)

Wings ofinsectsand Bats pes44!

(4) Tendril of cucurbitaceous plant and

(4)

Eyes of human and octopus

Fins of chondrichthys and cetaceaus

animals

puysio-Jj

of replication fork to swivel the helix?

(1) Topoisomerase

thorn of Bougainvillea

Which of the following enzyme is responsible 56. faffaa KY tgs s.yAL ŠSt

for breaking the parental DNA helix ahead

DNA polymerase I

DNApolymerase II

Helicase

PGT-BIO-2023
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(3)

(1) 3AIETA

(2) sÌ1. VifTL

(3) sA vifea I

221G0282

Paretel srA Helk

Q2
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57. Read the following statements and identify 57. ffeft Fi qfau v

58

the correct one based on codes given below:

(a)

(b)

(c)

(1)

(2)

Codes :

(3)

Guanine present in DNA is a

pyrimidine base.

Deoxyribose sugar of DNA is

deoxygenated at 2nd and 3rd carbon
atoms.

Nitrogenous base of DNA molecule is

bound with 1st carbon atom of
deoxyribose sugar.

Only (b) of the above

Only (b) and (c) of the above

Only (c) of the above

(4) Only (a) and (b) of the above

Which of the following scientist(s) is/are 58.
credited for disproving the theory of
spontaneous generation ? Select the correct
choice from codes given below.

(2)

(a) Matthias Schleiden and Theodor
Schwann

(b) Francesco Redi

(c) Aristotle

Codes :

(1) Only (b) of the above

(b) and (c) of the above

(3) (a) and (b) of the above

(4) Only (a) of the above

PGT-BIO-2023
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(a)

(1) sy A(b)

(2)

PA4

(3 staA(c)

(a)

(c)

fOO282

(1) 34 À ai (b)

(3) st (a) d (b)

(4) 34t À4T (a)
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59.

60.

Which of the following is not a product of l59. ffafua à 4-HH H TUITG3,recombinant DNA technology ? Identify
those and select the correct answer from the
codes given below.

(a)

(b)

(c) Terramycin

(d) Streptokinase

(1)

Codes :

(2)

(3)

(4)

Monoclonal antibody

(1)

Humulin

(2)

(3)

Only (c) of the above

It is an accepted fact that Hardy-Weinberg 60.

principle provides a model and explains that
a genetic equilibrium is maintained in a

population over a period of time under
certain conditions. Which of the following

condition does not facilitate in the
maintenance of equilibrium ?

(b), (c) and (d) of the above

(a), (b) and (d) of the above

(2)

Only (a) and (b) of the above

Large size of a population

Independent assortment of alleles

Random genetic drift

(4) Random mating

61. Variation is an important contributor in the

process of evolution. Which of the following

factors does not contribute new variation in

a population ?

(1) Sexual reproduction

Mutation

(3) Genetic drift

(4) Crossing over

PGT-BIO-2023
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(a) -4 yfrraf

(b)

(c)

yfer
ŽgftrT

(1) 39dH Àa )
(2) 3 À ), (C) ( (a)

(1)

(4) 3iT À4T (a) a)

Hhdl?

22101

(3) ugfaJ% HIgafNG TVAIK

(1) if# Y1

(4) s fafr44

Q2
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62.

63.

medicinal plant ?

(1)

Which of the following is an endangered 62. fffar i à - TH

(2)

(3)

(4)

Santalum ellipticum

Parthenium nysterophorous

Assertion (A) :

(1)

Ocimum tenuiflorium

Scientists observed that a few bacteria cangrow in sulfur rich environment and performphotosynthesis. These bacteria can split H,Sand release sulfur.

Bauhinia varigata

Reason (R) :

(3)

Theabove assertion providesan evidence that
during the process of photosynthesis ingreen
plants oxygen is released by the process of
splitting of water.

(4)

Based on above statements select the correct
answer from the codes given below :

(2) (A) is true but (R) is false

Both (A) and (R) are true but (R) is not
the correct explanation of (A)

Both (A) and (R) are false

Both (A) and (R) are true and (R) is
correct explanation of (A)

PGT-BIO-2023
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(1) H sfrta
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(2)

(3

(4) sEru afmet

63. 3rfcFYT (A) :

h{UT (R) :

(1

00

TA)T (R) Htg (R), (A) t H

(2) (A) HTT K (R) TITGI
(3) (A) d (R) Ta
(4) (A) d (R) THI T (R), (A) # HE
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64

65

Based on the observation of different flowersI64.

in a garden, which of the following would

provide the understanding that a flower can

be self pollinating.

(a)

(b)

(C)

(1)

(2)

Select the correct answer from the codes

given below :

(3)

(a)

(b)

(C)

Cleistogamous flower whose petals do

not open at all.

(4) Only (a) of the above

Flowers in which stamens and carpels

mature at different times in the same

flower.

(1)

An open flower in which anthers of

stamens and stigma of carpel lie at the

same level.

the following are
Which of
recommendations of NEP-2020 about

nurturence and support of gifted students

and students with special talents ?

(2)

(3)

Only (c) of the above

(4)

Both (a) and (b) of the above

Both (a) and (c) of the above

Choose the correct answer from the codes

given below :

Allowing specialization in the education

of gifted children in B.Ed. programmes.

Education of gifted students at specific

centres only.

Institutions of the country to use merit

based result of National and

International Olympiad.

Both (a) and (c) of the above

Only (b) of the above

All three of the above

Both (a) and (b) of the above

the 65. sfrar qd fay rya y faafeft

PGT-BIO-2023
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a2)

(4) 34RIA hd (a)

(a)

(b)

(c)

(2) 34H (b)
(3)

(4)

Q2
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66.

67.

Which of the following statement(s) about 66. rt d5 fr f-ffg à

connective tissue is/are correct ?

(a)

(b)

(c) Different types of connective tissues are

structurally and functionally similar.

Answer the question based on codes given
below

(2)

(3)

(1) (b) and (c) above are correct

(4)

Quite often these perform functions of

extracellular materials produced by

cells.

Not all connective tissues are elastic.

(1)

(2)

(a) and (c) above are correct

only (c) of the above is correct

F1 heterozygote of a dihybrid cross when test

crossed (i.e. with homozygous recessive
parental type), offspring are observed in a

ratio of 1:1 for the parental dominant and
recessive types. Which of the following
interpretation about the experiment is/are
correct ?

(a) and (b) above are correct

(a) Genes of the two traits in cross are
complimentary to each other.

(b) Such a result is not possible.

(C Both the genes of the cross are
completely linked.

Answer the question based on codes given
below :

Both (a) and (c) of the above are correct

Only (b) of the above is correct

(3) Only (c) of the above is correct

(4) Only (a) of the above is correct

PGT-BI0-2023 #
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67.

(a)

(b)

(c)

(3)

(4)

(a)

(b)

(C)

(3)

fafa yR t

3t
34 À

dT () H tI
(a) e (b) HT I

( 3 (a) I

SE45 02
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68.

NEP 2020 proposes to set up a National 68, TÀu fIn tft 2020 qEU4
Assessment Centre in which a number of

to be
addressed. Which of the following is not

aspects of assessment have been envisioned

there in the purview of said National

Assessment Centre ?

(2)

(3)

(4)

69, For an understanding of sewage treatment

which of the following concepts are

important from the point of view of its

practical implementation ?

Conduct of Achievement Surveys

(a) Role of microbes in the degradation of

organic substances

(2)

Preparation of guidelines for student

assessment

(b) Understanding about Biological

Oxygen Demand

(3)

Conduct of examination at different

school levels

(c) Classification of microorganisms

Choose the correct answer from the codes

given below :

(4)

Standard setting of assessment

(1) Only (b) and (c) of the above

(1)

(2)

(3)

Only (a) and (c) of the above

All three of the above

NEP-2020 can not be considered as an

Only (a) and (b) of the above

approach of experiential learning ?

70. Which of the following approach as per 70. fri At 2020 + 4R f-tfaa

Pedagogy based on story telling

Engagement of students in various

exploration
Reduction of curriculum content

(4) ntegration of art across the curricular

pedagogy

69
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71.

72..

Which of the following can not be considered 71.

to be a major shift in the recommendations
of NEP-2020 with reference to earlier
Educational policies in the country ?

(1) 5+3+3+4 Curricular structure.

(2)

(3) Promotion of multilingualism in
teaching and learning.

(4)

Focus on critical thinking and
conceptual understanding.

a)

(b

Co-location of Anganwadi Kendra
with schools in neighbourhood.

Multi level and activity based learning

Which of the following conditions have not 72. yRII tT 2020 MÆ AIYTAIŽ

been envisaged in NEP-2020 for the
promotion of Early childhood care and
Education at the foundational stage of
learning ?

Co-location of Anganwadies centres
with primary schools

(c) Developing a new cadre of ECCE

teachers

Select the correct answer from the codes
given below :

(1) Both (b) and (c) of the above

(2) Only (c) of the above

(3) Both (a) and (c) of the above

(4) Only (a) of the above

PGT-BIO-2023
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73

74.

Select the code wherein both the statements 73.

are correct.

(a)

(b)

()

(1)

(d) Superior ovary is characteristic of a

perigynous flower

(2)

Options :

In epigynous flower, the ovary is

half-inferior.

An inferior ovary is characteristic of an

epigynous flower.

(1)

Inahypogynous flower, the gynoecium

occupies the highest position on a

thalamus

(2)

(3) (c) and (d) only

(3)

(4) (a) and (b) only

(4)

(a) and (d) only

(b) and (c) only

A spike in which each flower is borne

in the axil of a persistent membranous

bract

A spike in which the axis is thin and

weak and bear unisexual flowers

A spike with thick, fleshy rachis with

flowers covered by one or more spathy

bracts

An inflorescence where the stalked
flowers are borne directly, aeropetally,
on an elongated rachis

PGT-BIO-2023

Which one of the following description refers 74. fifd À
H Ageu yafaAR TAfsH'

to an inflorescence 'Spadix ?
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(b)

fach:

(1)

(2)

(3)

(1)

D282

(4) 1 (a) (b)

(2)

AT (a) tt (d)

(3)

(c) r-(d)
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75. Choose the correct set of statements/ 75.
reactions with regard to C cycle of
photosynthesis :

(a) Decarboxylation of C-acids occur in
bundle sheath of leaves.

(b)

(C)

Transfer of C,-acids in bundle-sheath
is apoplastic.

(2)

Oxaloacetic acid +NADP+Malate

(a) co,-fixation in mesophyll during
C,-cycle is mediated by the enzyme
phospho-enol-pyruvate.

Options :

dehydrogenase

(1) (a) + (d) only

(b) + (c) only

(3) (c) + (d) only

(4) (a) + (b) only

below. Match the plants/types of plants
mentioned in the column I to the
morphological forms mentioned in the
column II.

Column )

(A) Scape

Codes :

(B) Culm

(C) Liana

(D) Creeper

Malate+NADPH

(1)

PGT-BIO-2023

(iü

Column II

Tinospora

76. Observe the column I and column II given 76. à fey Y I3E-rà yfaI iHI

Grasses

(ii) Onion

(iv) Bamboo

(1) (A)-(ü), (B)-(), (C-(iv), (D)-(iü)
(2) (A)-(), (B)-(1), (C-(ii), (D)-(iv)
(3) (A)-iv), (B)-(i), (C-(ü), (D)-0)
(4) (A)-(iüi), (B)-(iv), (O-), (D)-(i)
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(b)

(a)

(c) 3feyratz 4-1 +NADP+

te + NADPHfsesifart
(d) C

fah:
(1)

(2)

(3)

(4)

(B)

(A) q

(D)

(1)

har (a)+ (d)

(C) 4I

(2)

(3)

(b) + (c)

hdT () + (d)

9

hai (a) + (b)

22100282

fai

(A-(ü, (B-(0). (©+iv), (D-(i)
(A)-i), (B)-(ü), (C-(iü), (D)-(iv)

(A)-(iv), (B)-(ii), (C-(i), (D-(0)

(A)-üi), (B)-(iv), (C-), (D-(ü)
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Q2

17.
Given below are four statements

in respect
77. faaTHeffects of plant growth regulators. Select

the option that comprises. of correct

78.

statement.
(a)

(b) "Triple response" of dafk-grown pea

()

(2)

(d) TIBA is a gibberellin inhibitor
Options

:

Auxins promote shoot growth but atsimilar concentrations inhibit root
growth.

(1) (b) + (c) only

(4)

seedlings is a common bioassay ofabscissic acid
Kinetin is not a natural plant growth
regular

(3) (b) + (d) only
(c) only

In the question given belowtwostatements
are marked Assertion (A) and Reason (R).

Select the correct answer as pet codes given

below the statements.

(2)

Assertion (A) : A creeping green and

(3)

(a) + (b) only

Reason (R) :

(4

Codes :

(1) (A) is correct but (R) is incorrect

filamentous-protonema of
funaria helps the organism

to occupy-large surface of

substratum.
Because, the zygote, the

product of syngamy by

directly producing a

protonema help the

organism to produce a

large number of upright,

leafy,
individuals.

C'sporophytic

explanation of the asertion.

PGT-BIO-2023 E

(A) is incorrect but
statement.

t(R) is correct

Both (A) and (R)-are incorrect

statements.
(A) is correct and (R) is also an

aPpropriate explanation of the assertion.
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(1)
(2)

(3) (b) + (d)

4 aA (a) + (b)

aq (b) + (c)

hUT(R):

(1)

)

(4)

(A) Hfh (R) 34fych4 T TTeTG AI

(2) (A) Ted fbg (R) HT EYT I

(3) (A) 3R (R) ITd

Q2
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79.

80.

Choose the correct option that exhibits the | 79. H fahe g i atryR af

characteristics of archegoniates.

(a) Exhibit matrotrophy.

(b) Possess grana in their chloroplasts.

(c)

(d) Cellwalls are lignocellulosic.

Options :

(1) (a), (c) and (d) only

(2)

(3)

Form peristent phragmoplast during
cytokinesis.

(4)

(b), (c) and (d) only

(a), (b) and (d) only

In the question below two statements are

marked Assertion (A) and Reason (R). Select
the correct answer as per code given below
the statements.

(a), (b) and (c) only

Assertion (A) : Phyllotaxy, flower
induction, inflorescence formation, and
elongation growth of vegetative axis are all
variants of shoot apical meristem functions.

(3)

Reason (R) : Shoot apical meristem
functions in a dynamic, stochastic manner.

Codes :

(4)

(1) (A) is correct statement but (R)
statement does not explain (A)
statement correctly.

(2) (A) statement is incorrect while (R)

statement is correct.

Both the statements (A) and (R) are

incorrect.

Both (A) and (R) are correct statements
and (R) is also correct reasoning of (A)

statement.

O20
PGT-BI0-2023A
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(a) Hrgrát vefvfa tani
(b)

(c)

fach:
(1)

(2)

(3)

(4)

hat (a)(c) sÌr (d)

4T ()c) sr (d)

*ai (a), (b) r (d)

(a),(b) 3r ()

frg (A)D quf far, qoy fai

(1) (A) H HUT frg (R) À (A) H

(3) (A) R{R) 41dI

(4) (A) s (R)AiT zu (R), (4)4

Q2
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81.

82.

Choose the correct statement :

(1)

(2) All vascular plants exhibit secondary
growth.

(3)

(4)

All vascular plants are terrestrial.

(1)

All vascular plants possess chlorophyll
'a' and chlorophyll 'b as principal

photosynthetic pigments.

All vascular plants are seed plants.

Distal most shoot tip of a primary shoot axis 82.

of a healthy growing monopodial
dicotyledonous was artificially removed.
Which one of the following response would
you expect ?

Plant shall not produce any new leaves

further.

(2) Axillary buds of leaves at lower nodes
shall form a new branches.

(3) Axillary bud of a distal most leaf shall

produce a new branch axis.

(4) Plant shall not exhibit any secondary
growth in future.

PGT-BIO-2023
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83. In the given two columns below the 83. feyT I i iN1Àrast
column-1 lists the name of scientists and

column-2 lists the scientific concepts
described by the scientists. Match the name

of scientists with the scientific concept and
choose the correct answer from the options
given below.

Column -1

Bateson and (A) Enzyme kinetics

Punnet

(I) Sutton and (B) Semi

Boveri

(I) Meselson and
Stahl

(IV) Michaelis and
Menten

(V) Hershay and

Chase

Column-2

Codes :

conservative

mode of

replication of

DNA

PGT-BIO-2023

(C) Evidence of
DNA as genetic

material

(D) Chromosomal
basis of

inheritance

(E) Experiments to

prove linkage

(1) (0-D), (M-(E), (I)-(B), (V)-(A), (V-(C)

(2) O-D), ()-(E), (I)-(A), (IV)-(B),(V)-9

(3) 0-E), (W-(C), (I-(D), ((V-(A), (V)-(B)

(4) 0-E), (M-(D), ()-(B), (V)-(A), (V}-(9

36
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D

(D)

ya iy 2

(IV) HIgfere ta

iY-1

(9)

(4)

iY-2

(A) wIgH TfrAi

() ÍA, *

(D) fa 1

(E) HEHGI

punnet

(1) 0-), (m-(E, (I-(B), vA), (VH9

Chert

(2) (0-(D), (I)-(E), (m)-(A), (IV)-B), (V)-{C)

9-E), (0-(), ()-D), (V-A), (VB)

0-(E). (D-(D), (I)-(B), (V)-(A), (VH)
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84.

85.

86.

There are various types of restriction 84. yT sfrdvs sizfruA (IEH
endonucleases (RE) which is/are capable of

cutting the DNAeither within or away from

the recognition site. Which of the following
RE can cut DNA strand specifically within
the recognition site?

(1) Type II and Type II both

(2) Type II only

(3)

(4)

Which of the following cell organelle does not
contain nucleic acid ?

(2)

(1 Ribosomne

Type II only

Type Iand Type Il both

(3) Chloroplast

(4) Mitochondria

Lysosome

statement about Huntington's disease which

(1)

is a autosome linked dominant trait in human
beings ?

(3)

(4)

(2) Heterozygous individual would also

exhibit the trait.

Which of the following is not a correct 86. friffaa
H EY ie rt,

It can affect both male and female.

For a person to be homozygous for

Huntington's gene only one of his/her
parents must be suffering from the

disease.

If inherited it will be expressed in all the

generations in a pedigree.

PGT-BI0-2023 B
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(1)
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(2)

(3)

hdi SY II

(1) 5a

(3) rR
(4) HIgeifug

(1)

(3) ff f fia f fer wHqIHf
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87.

88.

89.

When a red flowered Mirabilis Jalapa plant 87.

was crossed with that of white flowered plant
then in the offspring only pink coloured
flowers appear on plant. Which of the
following phenomena correctly explain this

experiment and result ?

(1)

(2) Incomplete dominance

(3) Epistasis

(4) Pleiotropy

When a female Drosplila having white eye 88.

trait (X-linked trait) is crossed with a male
having dominant red eye trait, what would

be the possibility of these traits in the

offspring of Fl generation ?

(1)

Co-dominance

(2)

(3

Al the F1 males will be red eyed and
females would be white eyed.

All the offspring will be white eyed.

(4) Al the offspring will be red eyed.

All the F1 males will be white eyed and
females would be red eyed.

and answer the question based on codes given

below.

Which of the following is not an example of 89. ffrfad I 4qi aifUaU I
trisomy condition in human beings? Identify

(a) Patau syndrome

(b) Edward syndrome

(c) Turner syndrome

(2)

Codes :

(1) (a) and (c) of the above

(b) and (c) of the above

(3) only (c) of the above

(4) only (a) of the above

PGT-BI0-2023
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(3)

38

(4) gu4fadi

(2)

(a)

(c) zft figt4

(1) s

(2) 3

(3) 34e

(a) e (c)

() d ()
G (c)

Q2
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fftfa
90.

91

(4)

(3)

Consider the following statements to identify | 90.
Abe correct one to answer the question rom
the codes given below.

(a)

(b) Sinus venosusof the heartof frog opens
into right-auricle

(c

(1)

(1)

(2)

Codes :

(2)
(3)

(4)

Maxillary teeth of frog are homodont
and diphyodont. )

There are ten pairs of cranial nerves in
frog.

(b) and (c) of the above

If a trait is influenced by three or more genes,
then in a situation of inter crossing of the
heterozygote of all the three or more genes
would produce offspring, which can be
represented by which of the following
graph ?

PGT-BIO-2023

(a) and (c) of the above
only (c) of the above
(a) and (b) of the above

22100282
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91.

(1)
(2) 3TT (a) a (c)

(3)
(4) 34 (a) a (b)

(1)

(3)

(4)

Q2
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92

93.

Consider the following statements and
the correct answer from the options given
below:

(a

(b) Most of the cnidarians are triploblastic.

(c)

Codes :

(2)

(1) Only (a) and (c) of the above

(3)

(1)

(4) Only (a) of the above

(3)

If the body of the most cnidarians are
cut into two halves through central axis
then the body would be divided into
mirror images.

The rate of heart beat is determined by :

Choanocytes are found in the
gastrodermis of cnidarians.

(1)

(2) Purkinje fibres

(2)

(3)

Only (b) of the above

(4)

Only (b) and (c) of the above

(4) SA node

94. Inspiratory Capacity (1C) is :

(2)

AV node

(3)

Papillary muscles

TV + ERV (Expiratory Reserve Volume)
RV (Residual Volume) + ERV

TV + IRV + ERV

95. Hallucinogens are those drugs which

TV (Tidal Volume) + IRV (Inspiratory
Reserve Volume)

(1) Change the thoughts and perceptions.
Increase the activity of CNS.

Act as pain killers.

(4) Suppress the activities of CNS.

PGT-BIO-2028
40
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93.

94.

(a)

(b)

(c)

(1)

(2)

(3)

(2) vii RI

(1)

(2)

(3)

TV + ERV(f4:YGHH f 34T4d1)

RV (34afNTZ 3A4T4) + ERV

TV + IRV + ERV

(4T rty 4T1) + IRV (a:TAT

95. fayHA gTH:

Q2
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96.
Which of the following is an occupational 96. fLafftaa ià

H H AAfEYEHG IT?
respiratory disorder ?

(1)

2) Botulism

(3) Emphysema

(4) Anthrax

97. Bursa of Fabricius is an important organ of 97.

Silicosis

birds. This orgán is associated with
:

(1) production of uric acid.

(2) metabolism of fatty acid.

(3)

(4) generation of basophils.

98. Glucose present in glomerular filtrate is
reabsorbed in

generation of B-cell.

(1) Hende'sloop

(3)

(2) Proximalonvoluted tubule (PCT)

(4)

(4)

Distal convoluted tubule (DCT)

Bowman's capsule

99. In most of monocotyledonous roots, the 99.

origin of lateral roots can be traced to the
region of vacular bundles that lies :

(1) opposite to protoxylem.

(2) opposite to protophloem.

(3) abaxialtothe endodermis.

in between
protophloem.

PGT-BIO-2023

protoxylem and

98

41

JOIN TELEGRAM -@TEACHINGEXAM

(2) gfTA ÎTI

(3)

(4)

fherà jafua arat?

(3)

(2) G_3 61 34144y

(4)

fafersifera lwe fo sii'ce

(2)

(3)

nsf4T

(3)

-ifS a 3AIGA

Ifhcit 1 3AIGT

(1) iAGY fayîa

Q2
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100. Choose the correct sequence of events in a 100. 34T4 S fGufUa aSI
H afEufa

mango ovule leading to development of a

DIPLOID EMBRYO) via DIPLOSPORY.

(1) Nucellus archesporium

(2) Nucellus

(2n)

megaspore mother cell embryo sac

diploid embryo

(a)

(2n)

(3) Nucellus diploid embryo

megaspore mother cell meiosis

haploid Megaspore embryo sac

syngamy diploid embryo

(C)

(4) Nucellus embryo sac syngamy
(2n)

(2n)

following :

diploid embryo

archesporium-

Cucumber-lower(s) promote cross

pollinationbecause plants are
dioecious. O

(b Cucumber flower(s) promote cross

pollination because plants are

monoecious.

Codes :

101. Choose the incorect statement(s) from the 101. frifsa TA F4 T:

Emasculation technique prior to

artificial pollination must be performed
in cucumbgy

(d) flowersfof'cucumber need not be
bagged prior toartificial pollination.

(1) () + a) only

(2) (a) + (c)

(3) (6) + (c)

(4) (a) + (b) only

PGT-BIO-2023 B

) only

ondy
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(3)

42

(4)

(a)

(b)

(c)

(1)

(2)

(3)

(2rn)

(4)

(2n)

(2n)

Achecpot

A (c) + (d) &

ha (a) + (c) + (d)

gT (b) + (c) + (d)

haa (a) t (b)

Q2
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102.

Selectthe correct matching of the type of the 102. Ha aa a ufy yG Vã
joint with the example in human skeletal
system.

(1)

(2)

Type of joint

(1)

Cartilagenous

(3) Hinge joint

(2)

joint

(4) Gliding joint

(3)

Pivot joint

A pair of stomata.

A stoma.

Example

between frontal
and parietal

pore.

between third

103. A stomatal apparatus comprises of :

PGT-BIO-2023

and fourth

cervical

vertebrae

between

A pair of guard cells, a stomatal pore

and surrounding subsidiary cells.

humerus and
pectoral girdle

between
carpals

(4) A pair of guard cells and a stomatal

43
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(1) 3uifqA tfu

(2)

(4) fai

(3)
u

Sex
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104. Read the given statements. Choose the
correct set of code that represents two correct
statements.

(a) During embryogeny, suspensor is an

ephemeral structure found at the
radicular end of embryo-sac.

(b) During grass - embryo development, a

very large suspensor is formed.

(c) Suspensor attains maximal size at
globular/heart-shaped stageof embryo
development in a dicot ovule/seed.

(d) Suspensor plays an important
nourishing role during initial stages of
new seedling formation.

Codes :

(1) (a) + (c) only

(2) (c) + (b) only

(3) (c) + (d) only

(4) (a) + (b) only

105. Juxtaglomerular cells secrete 'A' when there

is reabsorption in 'B' ion concentration.
Choose the correct pair labelled as A and B

respectively as :

(1) Carbonic Anhydrase, Sodium

(2) ATPase, Potassium

@fo

(3) Renin, Sodium

(4) Renin, Chloride

PGT-BI0-2023 H
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(a)

(b)

(C)

(1)

(2)

(3)

(4)

hdi (a) + (c)

(1)

hat (c) + (b)

hai(c) + (d)

hdt (a) + (b)

105. HrAReq afNTAIT 'A' afa ta
'B 3f44 h1 y3fariqo ara AT B fafzd

(2) aritg, èftrH
(3) f, fgyH

(afurE)

(4) tf7, eiRIES
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-frefra

etfur)

2

k Select the most appropriate definition of 106. frifa à saentfta fag t HaG 34g

compensation point from the following.

(1)

(2)

(3)

(4)

107. Given below are two Column I and

Column II. Column I lists the names of

scientists and Column II mentions the

discoveries made by them towards our

understanding of the mechanism of

photosynthesis in plants.

(1)

When the rate of photosynthesis
becomes equal to the rate of respiration.

When the rate of photosynthesis
becomes equat to the rate of

photorespiration.

Match the scientists to the discoveries they

made choose correct code.

When the rate of light reactions of

photosynthesis becomes equal to the

rate of dark reactions of the

photosynthesis.

Column-I
(A) J.B. Van

(3)

When the rate of PS I becomes equal to

the rate of PS II.

(4)

(B) Stephen

Codes :

Helmont

Hales

i)

(iü)

(C) Engelman (iüi) Green plants get

nourishment through

Column-II
Starch is first

(D) Sachs (iv) Action spectrum of

photosynthesis

visible product of
photosynthesis

Water of soil

contributes to

growth of plants

PGT-BIO-2023 B

their leaves from air

and sunlight

(2) (A)-(üi), (B)-(iv), (C)-(î), (D)-)
(A)-(), (B)-(ü), (C)-(iüi), (D)-(iv)

(A-(ü), (B)-(üi), (C-(), (D)-(iv)

(A)-(i), (B)-(iüi), (C)-(iv), (D-)

45
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(1)

(2)

(3)

(4)

(A)

(C) ttT

(B) 4 (ii) HqA YCY frH

(D) tH

(1)

(2)

(3)

(i)

(4)

Y-II

(iv) yhRI HYTYUT I

(A)-(), (B)-(i), (C)-(üü), (D)-(iv)
(A)-(ii), (B)-(iv), (C)-(ü), (D)-(0)

(A-ii), (B)-(i), (C-). (D)-(iv)
(A)-(ü), (B)-(ii). (O-(iv), (D)-)
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108. Choose the correct enzyme from the 108. fEifd ft ycY fyA

following, that atalyses phosphoryl transfer

reaction during glycolysis in a plant cell.

(1)

(2)

(3)

(4)

(1)

(2)

109. If you were to show "tylosis" within a wood

to your students, which of the following kind

of wood you would choose ? The secondary

(3)

Phosphoglycero mutase

xylem:

(4)

Enolase

Hexokinase

Aldolase

(P)

with paratracheal axial secondary

parenchyma

without any fibres

that is non-porous

with apotracheal axial secondary

parenchyma

110. Given below are two columns I and II.

Column I lists the components ofETS (Electron

Transport System) of aerobic respiration.

Column IIlists the corresponding electron

carriers during redox reactions. Match the

carriers and components of ETS chain.

Column-I

(A) Complex I

(B) Complex II

(9 Complex II

Complex IV

Codes
:

()
(ü)

PGT-BIO-2023 #

(iüi)

Column-II

Cytc, O2

NADH CoQ

Succinate

CoQ

(iv) CoQH,Cytc,

(1) (AJ-(ü), (B)-(ii), (C)-(iv), (D)-()

(2) (A)-(üi), (B)-(iv), (©-(), (D)-(ü)

(3) (A)-(iv), (B)-(), (C-(), (D)-(iü)

(4) (A)-), (B)-(ü), (©-(ii), (D-(iv)
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(1)

46

(2)

(3)

(4) ysie

109. 4f 3144) 74À faenfti

(1)

(2)

FqUT á.qu. (3gi yfaE )

(A)

(B)

(C)

(1)

(2)

afgI

(3)

HfMA II

HfA II
(ü)

fsus SCTH:

(iü)

iN-II
Cytc, O2

(D) fAIV (iv) CoQH, Cte,

NADH CoQ

HfTZ CoQ

(A)-(i), (B)-(üü), (C-(iv), (D-0)

(A)-(ii), (B)-(iv), (C-), (D)-(ü)

(A)-(iv), (B)-(), (C-(ü), (D-(ü)

(4) (A)-(i), (B)-(i), (C-(iü), (D)-(iv)
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Q2

111. Following are pairs representing the 111.ffetfaa qrafunctioning of thyroid gland secretions.Identify the correct pair(s) and answer thequestion from the codes given below.
(a) Thyroxine : Regulatíon of Basal

Metabolic Rate.

b) Myxoedema : Hyposecretion ofThyroid

(C)

(1)

Codes :

(2)

(3)

hormone.

Cretinism : Hypersecretion of Thyroid
hormone.

P

(a) and (b) of the above.

(a) and (c) of the above.
All the three ie. (a), (b) and (c) of the
above.

(4) Only (a) of the above.

112. Match the columns for correct pairs:

Column-I

Family

(Q) Kingdom

(R) Order

(S) Species

(T) Genus

21002$2

Codes :

(ü)

PGT-BIO-2023 H

Column-II

Solanum

Solanaceae

(iüi) Lycopersicum

(iv) lantae

() Palymoniales

(1) (P-(ii); (Q-(iv); (R-(v) (S-(ü): (T-()

(2) (P)-iv): (0)-(ü);: (R)-(v):(9)-(ü); (T-)

(3) (P-(): (Q-iv): (R)-(v): (S)-(i); (T)-(i)

(4) P-(ü); (Q-(iv); (R)-(v); (S)-(iüi); (T-)

JOIN TELEGRAM -@TEACHINGEXAM
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(a) rqaf:3r 34ggît

(1)

(2) 34a À (a) a c)

(3)

(4)

(P)

(Q

(R) 3S
(S) vÂ

(T) H

(1)

(2)

(3)

(a) yd (b)

(4)

(1)

p
(lass

HEN-II

(iii) gtEH

P)-(ii); (Q-(iv); (R)-(v); (S)-(i): (T)-1)

(P)-iv): (0-(i);: (R)-(); (S)-(ii); (T)-(i)

(P)-); (Q)-(v); (R)-(v); (S)-(iii): (T-(ii)

(P)-(iü): ()-(iv): (R)-(V): (S)-(i): (T-0)

Q2
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113. Polluted water bodies have :

(1) Nostoc and Oscillatoria

(2) Spirogyra and Chlamydomonas

(3) Oscillatoria and Spirogyra

(4)

114. Which of the following statements are

incorrect ?

(iü) Starch is present as storehouse of
energy in plants.

(iii) Cellulose is a polymer of sucrose.

Chlamydomonas and Nostoc

(iv) Chitin is a heteropolymer.

Codes :

(2)

(1) (ii) and (iv)

(3)

Inulin is a polymer of fructose.

(2)

(4) () and (i)

(3)

(4)

(1) and (iv)

115. The organism having smallest cell ;

(1) PPLO

(i) and (iv)

(3)

Saccharomyces cerevisiae

Blue green algae

Bacteria

116. Which of the following mecharism or process

is not observed in Amoeba ?

(1) Multiple fission

(2) Encystment

fo

Regeneration

(4) Simple binary fision

PGT-BIO-2023
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113.-wefua
Hfafga

(1)

(2)

(i)

(1 () t (iv)

(2) ) šieiV)

(3)

(4)

() (iv)X
) R()

(1) .yA.A

(4)

(3) î-afta ta
atfr

(1) YIgT

(2) yTva)
(3) T

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


117. Which

()

()

of

Codes :

Collagen is the most abundant protein
in animals.

i) Z-DNA is the most common double
helical structure found in nature.

RuBisco is the most abundant
in plants.

(1) Only (i) and (iii)

the statement(s) is/are correct ?

(2) Only (ii) and (iüi)

(3) ), (ü) and (ii)

(4) Only () and (ü)

(1) Killing ova

(2) Preventing ovulation

(1)

(3) Forming barier between sperms and

(3)

(4) Killing sperms

(4)

Ova

119. Acrosome reaction is triggered by :

(2) Capacitation

Release of lysin

protein

118. Oral contraceptive pills help in birth control 118. HG EU fe à arít TsfREG nfrifr *
by :

Influx of Nat in sperm

Release of fertilizin

PGT-BIO-2023 49

117. ÀF4A HATI?
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() (RuBisco) teii HÀNTHAI4

(1)

(2)

(3)

(4)

i() 3t (üi)

(2)

4 (i) 3r(i)

am
(), (i) r (i) f

() s (ii)

(1) AUSIY3A K #|A

(1) f fagaà

(2) frŽyA

(3) YsATy Nat iaafa

Q2
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120. A true example of an Organism and its 120. fat sta 3iN IHH nRfeefaaa

ecological niche :

(1)

(2)

(3)

121. Which one of the following sexually

transmitted disease (STD) correctly matches

(1)

(2)

(3)

(4) Desert locust and desert

(1)

(4)

(2)

with its pathogen ?

(3)

(4)

(3)

Vallisneria and pond

Vultures and dense forest

Aphid and plant root

(4) 8

in the endosperm if there are

chromosomes present in onion root tip ?

Syphilis - Treponema pallidum

(1) 32

Urethritis - Entamoeba gingivalis

(2) 24

Gonorrhoea - Leislmania donovani

AIDS- Bacillus anthracis

122. What would be the number of chromosomes 122. yf t * ft 16 yur4a t yug

123. E.coli divides after every 20 minutes. If its

culture containing 1x 105 cells is incubated

for 100 minutes at 37°C, how many cells

would be expected ?

16

32x 105

35 x 105

100x 105

5x 105

PGT-BIO-2023
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(1)

(2)

(3)

(1)

(2) qfnsfe4 234fA fatrfR

(3)

(4) gH- TY frg

(1) 32

(2) 24

(3) 16

(4)

123. tcIs A 20 fe a fafd a
100f42 fe f

a fadl

(1)

8

(2)

(3)

32 x 105

35 x 105

100 x 105

(45x105

https://www.adda247.com/
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124.
Hormones secreted by the placenta to

maintain pregnancy are :

(1)

(2)

(3)

hCG, hPL, estrogens, oxytocin

(4) hCG, hPL, progestrogens, prolactin

hCG Human Chorionic(Here
Gonadotropin; hPL : Human Placental

Lactogen)

hCG, hPL, progestogens, estrogens

125. Match Column "A' with Column 'B' and

select the suitable answer from the code given

hCG, progestrogens, estrogens,
glucocorticoids

below :

(C)

(A) Leishmania

Column-A

(B) Wuchereria

donovani

(1)

(2)

bancrofti

(D) Entamoeba

Codes :

histolytica

Trypanosoma (iiü) Kala azar

gambiens

()

Serotonin

Acetylcholine

Column-B

(3) Dopamine

Malaria

(1) (A)-(v), (B)-(iv), (O-(i), (D-()

(2) (A)-ii), (B)-(V), (C-(iv), (D-(ü)

(4) Epinephrine

Amoebiasis

(3) (A)-(üi), (B)-(v), (C-(i), (D-()

(4) (A)-(iv), (B)-(v), (©-(ü), (D)-()

PGT-BIO-2023

126. Which neuro-transmitter is involved in the

transmission of impulse at the neuro

muscular junction ?

(iv) Sleeping

sickness

(v) Filariasis

51
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(1)

(2)

(3) hCG, stgo, a,rqGaiéaIS

hCG, hPL,

(4)hCG, hPL,ÌA, YIGeA

(44 hCG : 47q TY ISIgfta; hPL: H144

(A) ÎNIÄer.
siart

hCG, hPL, Ì, H

(C) gtteÌI

(B) ates ()

(D) eta
ferferfe7

(3)

(4)

(1)

A, 3fRHefua

(3)

()

(1) (AJ-(v), (B)-(iv), (©-(ii), (D)-(ii)

(2-(A)-(ii), (B)-(v) (O-iv), (D-()

sA

i)

(4) tf9tT

-(iv) fraIq nfy

(v)

.(P ffztefa Ac

hc4-B

(AJ-(ii), (B)-(v), (C)-(iü), (D)-(1)

(A)-(iv), (B)-(v), (C)-(iü), (D)-()

Q2

https://www.adda247.com/
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127. The striated appearance of a myofibrilis due | 127, vt qs ht ta AAhfafàs

to the distribution pattern of :

(1) Meromyosin

(2) Sarcoplasmic reticulum

(3)

(4) Troponin

opic nerve passes out of the retina, is called:

(1)

(2)

(3)

128. The region of the vertebrate eye, where the 128. 6át 3G faI, Gi

(4)

(1)

(2)

(3

Actin and myosin

(4)

129. Human placenta is derived from:

(1)

(2)

iris

(3)

blind spot

optic chiasma

fovea

Allantois

Chorion

130. Calcium level in blood is regulated by :

Allantois and Chorion

Amnion

Somatostatin

Aldosterone

Thyrocalcitonin

(4) Thyroxine

PGT-BIO-2023 D
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(1) îTeîT

(2)

(3)

52

(4) reifg

(1)

(2)

(3)

(4) tfa

129. 41q 34
AGI:

G fsy4

(1) 349TYfgal A

(2) gàI

(3)

(4)

130. feR ÀafH 57 fuft ta :

(3) fvef
I

(4)
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